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wob | n | HAS| RS | g | 2R Sy

A= ergy | S8 | R gy | O BB s | g
(v=) (v=) (W) (1) (&)

3 A 43529 | 16,201 | 7,122 3489 | 2,951 1,092 123 12,551
(100.0) | (37.2) | (16.4) (8.0) (6.8) (2.5) (0.3) (28.8)

11 292 169 8 10 46 18 41
(100) | (57.9) (2.7) (34) | (158) | (6.2) (14.0)

12 1,153 389 167 201 118 29 249
(100) | (33.7) | (145) | (174) | (102) | (2.5) (21.6)

13 2,887 1,208 298 165 191 87 938
(100) | (41.8) | (103) | (5.7) (6.6) (3.0) (32.5)

14 9,130 5,570 1,936 312 345 94 873
(100) | (61.0) | (21.2) | (3.4) (3.8) (1.0) (9.6)

15 5,771 1,931 595 1,151 174 39 1,881
(100) | (335) | (103) | (19.9) | (3.0) (0.7) (32.6)

16 2,611 937 377 232 149 69 847
(100) | (35.9) | (144) | (8.9) (5.7) (2.6) (32.4)

17 2,521 543 524 191 190 121 952
(100) | (21.5) | (20.8) | (7.6) (7.5) (4.8) (37.8)

18 3,923 821 706 179 202 161 1 1,853
(100) | (20.9) | (18.0) | (4.6) (5.2) (4.1) 0.0) | @472

19 5,164 1,129 822 535 609 130 10 1,929
(100) | (21.9) | (15.9) | (104) | (11.8) | (2.5) (02) | (37.3)

0 5,546 1,867 1,276 358 536 92 29 1,388
(100) | (33.7) | (23.0) | (6.4) (9.7) (1.7) (05) | (25.0)

1 4,531 1,637 413 155 391 252 83 1,600
(100) | (36.1) | (9.1) (3.4) (8.6) (5.6) (18) | (35.3)

2. FAala AHEa s
(1 - 7)
= = W o EERE

= = 2 A °|F i !
T A 43,437 2,093 21,275 20,069
2 A 227 8 143 76
=7 A% 144 5 128 11
BRI 4 3 0 1
11 37 8 0 5 3
4H|Ape] o] 9 36 0 1 35
A% BA 11 0 8 3
7] e} 24 0 1 23
2 A 1,113 104 531 478
=R A% 380 61 262 57
BRG] 151 4 99 48
12 37 193 30 115 48
4H| 7] o] 9 113 6 22 85
4% B4 29 3 10 16
7] e 247 0 23 224




e € °F 27 B - =4
2 A 2,509 73 1,427 1,009
=79 A7 951 9 886 56
BRG] 287 6 238 43
13 37 163 54 9% 13
AR 0] 9 174 1 139 34
T3 BA 74 3 55 16
71 e} 860 0 13 847
2 A 8,239 168 6,569 1,502
=7 A% 5,705 125 5,254 326
=79 A 925 5 767 153
14 37 280 27 242 11
AH]2}e] o] 9 255 9 197 49
T3 AA 108 2 65 41
71 E} 966 0 44 922
2 A 7,089 90 3,190 3,809
=Hle A7 2,087 44 1,810 233
T1e] ok 1,596 15 1,054 527
15 37 1,185 17 96 1,072
Z~n]2Fe] o] 9] 276 12 210 54
A% AA 41 2 20 19
71 e} 1,904 0 0 1,904
2 A 2,560 79 1,155 1,326
=79 A7 884 33 589 262
BRG] 369 22 275 72
16 37 222 10 163 49
AR 0] 9 164 11 91 62
T3 BA 71 3 37 31
71 e} 850 0 0 850
2 A 2,238 85 534 1,619
=Hle A% 498 31 221 246
=79 A 408 40 182 186
17 37 195 7 64 124
Z~n]2}pe] o] 9] 137 4 50 83
AT AA 48 3 17 28
71 €} 952 0 0 952
2 A 3,952 37 943 2,972
=Hlel A% 836 15 403 418
BRIl 686 11 344 331
18 37 153 8 61 84
AH]2}e] o] 9 224 1 64 159
A% AA 198 2 70 126
old F3le &Y 1 0 1 0
71 e} 1,854 0 0 1,854
2 A 5,165 388 2,187 2,590
=79 A7 1,047 154 710 183
7o A 877 121 571 185
19 37 546 23 433 90
AH|He] o] 9 609 73 396 140
T3 AA 147 17 72 58
oo F3le= &Y 10 0 5 5
71 EF 1,929 0 0 1,929
2 A 5,563 629 2,975 1,959
ERIE R 1,791 322 1288 181
I o] b 1,324 153 993 178
20 37 365 40 294 31
ZH]A}2o] o] 571 104 336 131
A% AA 96 8 46 42
oo F3l= &Y 28 2 18 8




= s w of EERE
2A o3 =5 =z
71 e} 1,388 0 0 1,388
2 A 4,782 432 1,621 2,729
7 A% 1,893 275 764 854
=79 A 414 46 248 120
1 37 158 2 122 34
AH]2}e] o] 9 400 99 215 86
T3 AA 242 5 220 17
oo F3l= &Y 75 5 52 18
7] e} 1,600 0 0 1,600




